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Warm-up
March 27, 2017

Find sed® for the angle whose terminal side
passes through the point (-3, 7).
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2. Find the reference angle for 8 = —?
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4, Give the exact value of tan%_ @ oA Lg
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6. Determine the quadrant in which the terminal side of the angle —%ﬁ lies.
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7. Find the two values of 8 (0 < 8 < 360°) that satisfy sec§ = —1.5557
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18. Find the vertex of the parabola: (x = 5)? —=7(y+8) =0
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19. Find the equation of the parabola with vertex at (3, 2) and focus at (3, 12).
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20. Find the center of the ellipse: x%2 + 2y%2 — 12x — 20y + 22 =0
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23. Find tan @, for the angle 8 shown below.
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21. Find the standard form of the equation of the ellipse with the foci (—\/ﬁ, 6) and (\fﬁ, 6) and a

vertex (5,6). O ~§ v
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12. Determine the order of the matrix: [ 1

('PO\NS XCO‘UN‘I\\
v x 3

2 3]
=5 -8 7

March 27, 2017

19



Mar 27 Midterm Review.notebook

13. Evaluate: é/g @4]
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15. Use a graphing utility to multiply: [_41 g _23] l 0 1] (/
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16. Use matrix multiplication to determine which of the following is the inverse of A = [
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17. Use a determinant to find the area of a triangle with the vertices (3, —1), (4,2),and (-2, 0).
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11. The pilot of an airplane flying at an altitude of 200(“eet sights two ships traveling in the same

direction as the plane. The angle of depression of the farther ship is 30° and the angle of
depression of the other ship is 48°. Find the distance between the two ships.
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